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Table Scan Data
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Compton Peak { GeV)

Compton Peak (GeV)

Position dependent Energy reconstruction
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Compton Peak vs position
50-100 kevt, rather poor precision



Posmon dependent Energy reconstruction
Mean energy in the range 10-30 GeV
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Higher sampling fraction for Pb
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Sampling fraction (%)
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TPOL MC

Sampling fraction vs position

W: 2.5%
Pb: Wx1.5 =3.75%
(1993 NIM paper)
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MC tunning — digitisation model

Linear attenuation of light along vy.
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MC/Data (GeV)

MC tunning — the gap between up/down scin.
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MC/Data (GeV)
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Energy
In bins of y

L 2.20 L 2.00 L 1.80 L 1.60 1.45

10 20 10 20 10 20 10 20 10 20
L 1.30 L 1.15 L 1.05 L (.95 0.85

10 20 10 20 10 20 10 20 10 20
L 0.75 L 0.65 L 0.60 L (0.55 0.45
_T;H—T—I_L 1 _ﬁ 1 _ﬂ _m m [

10 20 10 20 10 20 10 20 10 20
L 0.35 L 0.30 L 0.28 L 0.25 0.23

10 20 10 20 10 20 10 20 10 20
L 0.10 L 0.00 L 0.00 L 0.00 0.00
_I\—Iﬁfl‘lj-li_l _ﬂL _ﬂl _ﬂ_l ﬂl_

10 20 10 20 10 20 10 20 10 20
L 0.00 L 0.00 L 0.00 L 0.00 19’13.7_'1

10 20 10 20 10 20 10 20 10 20
I L, L ., 1, I ’-v?:_LI_L

10 20 10 20 10 20 10 20 10 20
L -0.45 L -0.55 w?LLL L -0.65 -0.75

10 20 10 20 10 20 10 20 10 20
L -0.85 L -0.95 L -1.05 L -1.15 :1.30

10 20 10 20 10 20 10 20 10 20
L -1.45 L -1.60 L -1.80 L -2.00 -2.20

10 20 10 20 10 20 10 20 10 20



E-t a ]%N 2.20 ]%u 2.00 l 1.80 1 1.60 ILL 1.45
. . -1 = -lfll.SI = -1 I -l]l.S I -1 I -l]l.S I -1 I ‘ -l]‘.S ‘ -1 ‘ — -IZI‘.SI 0
11 bl NS Of y - 1.30| - 1L15| - 1.05| - 0.95 j‘[’LLL_ 0.85

% 1 | 1 {hl 1 | 1 1 | 1 fTLLL\_h 1 ‘ Il Il Il ‘ 1
-1 0.5 -1 0.5 -1 05 -1 A5 -1 0.5 0
0.75 ,FFELM 0.65 0.60| | 0.55| [ 0.45
-1 1 1 -'].sl 1 1 1 -1 1 1 1 -']-SI 1 1 1 -1 1 1 -05 1 1 1 1 -] 1 Il -']J.S L 1 1 1 ] Il Il I -0-5 - Il ']
0.35 0.30 028 | 025 [ = 0.23
1 — I-Ol.S 1 — -Ol.SI -1 — -Ol.S I -1 - -IJ‘.S = 1 — -O‘.SI ‘ 0
0.10 | [ rles - M AT S g
| 0.00 - £ 000 " f 000 Ff 0,00
1 1 1 0 1 1 1 0 1 1 -1 1 1 0 1 1 -] 1 Il 0 1 1 -] Il 0 Il 1 1
e | -0.10
- F 000 5
-] 1 Il 0 1 1 ] Il 0 Il 1 1
I -0.30);)‘?lt I -0.35ﬂ
i | L i Lo L
1 0 -1 0 1
-0.45 -0.55 -0.60 . -0.65 L -0.75 ﬁ
0 I 0.5 O_L B I 05 — 0 I 0.|5 = 0 B 0.‘5 = 0 = 0‘.5 = 1
- 0.8 | [ -0.95 - -1.05 - -1.15 - 1300
I Ll Ll L. | .m.ﬁ_ w‘ﬂ
0 0.5 0 05 0 0.5 0 0.5 0 05 1
- -1.45 } - 160 JJT - -1.80 j ~ 22.00 J - 2.20 Jj
0 I Ol.SI I I 0 I Ol.S I I 0 0.|5 - 0 — 0.‘5 — 0 ‘ 0‘.5 I 1

10



Etas in bins of x (horizontal scan @ y=0)
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Outlook

Choose the final value for the gap between scin. (up/down)
Check/correct the sampling fraction for Pb

Validate the digitisation model in horizontal plane (along X)
Study the position of CAL wrt. the beam (rotation in XY plane?)
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